	4N1
	Skip count  by 1000s


Fill in the blanks. 
1)  3,000
_______
5,000
  _______
7,000

2)  4,712
8,712

12,712
_______
_______

3)  2,309
4,309

_______
8,409

________

Circle the answer that continues the patterns below. 

4)  Which number sequence below continues the number sequence above? 

3,400; 5,400; 7,400….
a) 9,400; 11,400;  13,400

b) 9,400; 10,400; 11,400

c) 8,400; 9,400; 10,400

d) 11,400; 13,400; 15,400

5)  Which number begins and ends this sequence of numbers
5,350, 8,350, 12,350
a) 4,350; 13,350

b) 2,350; 15,350

c) 1,350; 13,350

d) 3,350; 15,350
